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Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@23.882 ® 29.107
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olt.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 X cos 56° = 10 x 0.5592 = 5.592
w2t AABC o] S99 Zo]= 10 + 8.29 + 5.592 = 23.882




2. thg 2elA sABC 9 WolE The?

A
49°
.
B*~< Prs
T~-10cm -~ C
(Af2tdl el 1)
T sin © cos tan z
42° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97
@ 33cm? @ 37cm? 3)45 cm?
@ 72cm? ® 90cm?
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AC = x2} 54
/B=42°0]B& x=10xtan42°=10x0.9 =9

w4l aABC o] WOl 10% 9 x 5 = 45(cm?) °]t




